Sr Questions Answers Choice

. Producer
. Herbivore
. cornivore
. Teriary consumer

1 Rabbit is a.

. Cattle
. Snake
. Lion
. Frog

2 it is example of secondary consumer.

. Plants

. Animal

. Mud

. Bacteria

3 Which one is not biotic factor.

. Cattles
. Snake
. Lion

. Tiger

4 It is an example of primary consumers.

. Algae and bacteria
. Mosses

. Animal

. Bacteria and Fungi

5 Decomposers are.

. Parasites
. Predators
. Prey

6 All herbivore animals are.

. Grass

. Goat

. <div>Lion</div>
. Soil

7 Which of the following is the abiotic part of ecosystem.

. Deer

. Frog

. Snake
. Lion

8 Which is tertiary carnivore.

. Herbivores
. Carnivores
. Omnivores
. Insectivores

9 The consumers that eat animal flesh as well as plants and plant products are called.

. Producers
. Herbivores
. carnivore

. Oxygen
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10 Abiotic component of ecosystem is. 2
D
Community
Population

. Biosphere
. Competition

1" All ecosystems of the world combine to form.

. Population

. Coummunity
C. Abiotic factor
D. Ecology
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12 A group of organisms of same species living in a particular area is called.



